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l.kolo = ={,90.42 -N Tukolo = e A4. 4}~ ¢
1l.VéZany n/L A - Komo¥any C . 37.0rlovice A = KomoPany C
2.,51lavikovice A=~ Nevojice A s 38.Loveidky - Ho3tice B .
3.HoStice B - Erlovice B . 39.VelcSovice B = Slavikovice A -
4.,0rlovice A = Brankovice . 40,Rousinovec B = VéZany n/L A
5.LovEilky - Némany B - 41, Némdany B - Nevojice A
6.Rousinovec B - VeleSovice B - 42,Brankovice = Crlovice B
2.kolo = @.40.-13~N 8.kolo = o §idH.~f2-N
7.Komo¥any C - Rousinovec B - 43.Komofany C = Orlovice B
8.,Néméany B - ¥eleSovice B - 44 . )Nevojice A = Brankovice
9.Brankovice = Lovéilky . 45.,Véd%any n/L A - INémdany B
10.,0rlovice B = Grlovice A . 464,81avikovice A= Rousinovec B
1l.Nevojice A = HoStice B - 4T7,HoStice B - VeleSovice B
12,VdZany n/IL A - Slavikovice A - 48,0rlovice A = Lovéidky
3ekolo = AP, 43~ 8 8.kolo = 285 44.17~ S
13.5lavikovice A= Komorany C > 49,LovEidky = Komofany C
14 ,HoStice B - Vdfany n/L A - 50.VeleSovice B = Orlovice A
15.0rlovice A = Nevojice A . 51.,Rousinovec B - HoStice B
16.LovEicky - Orlovice B . 2.Néméany B - Slavikovice A
17.VeleSovice B = Brankovice . 53.Brankovice - VdZany n/L A
18.Rousinovec B - Némdany B - 54,0rlovice B = Nevojice A
4.kolo = 22.49, 42 -N 10.kolo ~ 3.42.4%- A
19.Komofany C - NémCany B . 55.Komofany C = Nevojice A
20.,Brankovice - Rousinovec B - 56.,VdZany n/L A - Orlovice B
21l,0rlovice B - VeleSovice B - 57.51lavikovice A= Brankovice
22,Nevojice A - Lovéicky . 58.HoStice B - Némiany B
23.VédZany n/L A - Grlovice A » 59,Rousinovec B - Crlovice A
24 .Slavikovice A~ HoStice B . 60.Loveicky - VeleSovice B
5.kolo = A®.4H.4% S 1ll,kolo = Q. 4243 -8
25.,HoStice B = Fomorany C . 6l.VeleSovice B - Komorany C
26,0rlovice A = Slavikovice A - 62,LovEidky - Rousinovec B
27.Lovéilky - ¥éZany n/L A - 63.Néméany B -~ Grlovice A
28.,VeleSovice B = Nevojice A . 64 ,Brankovice = Hodtice B
29,Rousinovec B - Crlovice B - 65.0rlovice B = Slavikovice A
30,Némany B - Brankovice . 66.,Nevojice A = VdZany n/L A

6ukolo - £t.47- N -

3l.Komofany C =~ Brahkovice
32,0rlovice B = Némdany B
33+Rousinovec B -~ Nevojice A -
34.,VéZany n/L A - VeleSovice B -
35.51avikovice A= Lovdidky =
36.HoStice B - Orlovice A =




OeSels = 2018

12.kolo = Y4.4.4¢.- £

67.Komofany ¢ = VédZany n/L A
68.Nevojice A = Slavikovice A
69.,0rlovice B =HoStice B
70,Brankovice = QOrlovice A
T1.,Némdany B =~ Lovéicky
T2.VeleSovice B = Rousinovec B

13.ko0lo = A4.4.4® = N

73.Rousinovec B = Kymofany C
T4.VeleSovice B - Néméany B
75.Lovéilky Brankovice
7640rlovice A = QOrlovice B
T7.Hos3tice B - Nevojice A
T8+Slavikovice A=~ VdZany n/I A

14 .kolo - .Hd.-{a-;.'.s

79.Komofany C = Slavikovice A
80.Vé%any n/L A - HoStice B
8l.Nevojice A = Qrlovice A
82,0rlovice B = Loviidky
83.Brankovice = VeleSovice B
84 ,JNéméany B = Rousinovec B

15.kolo = Mn2. 9@~ N
85.éméany B - Komofany C

86e.Rousinovec B - Brankovice
87.,VeleSovice B = Qrlovice B

88.Loveidky - Nevojice A
89,0rlovice A = VéZany n/L A
90.HoStice B - Slavikovice A

16.k0l0 = 40,2, 4P -8

91.Komofany C = HoStice B
92.51avikovice A= Orlovice 4
93.Vé%any n/L A = Loviidky

94 ,Nevojice A
95,0rlovice B
96,Brankovice

17.k0lo = {P.2.4¥ = N

- VeleSovice B
- Rousinovec B
- Néméany B

97.Brankovice - Komofany C
98,Néméany B = Orlovice B
99,Nevoiice A - Rousinovec B
100.,VeleSovice B = VdZany n/L A
101,Lovéidky - Slavikovice A

102,0rlovice A = HoStice B

18.kolo = 24-2.#;' $

103.Komo¥any C = Orlovice A
104 ,HoStice B - Lov¢ilky
105.51lavikovice A= VeleSovice B
106,Vé%anyn/L A = Rousinovec B
107.Nevojice A = Néméany B
108.,0rlovice B  ~ Brankovice

19.kolo - 4-3.16 - N

109.,0rlovice B = Komoiany C
110.Brankovice = Nevojice A
111,Néméany B - VédZany n/L A
112,Rousinovec B - Slavikovice A
113.VeleSovice B = HoStice B

114 .Lovéicky =~ Orlovice A

20.ko0lo = 4D.B.AF -2

115.Komorany C = Lovéilky
116.0rlovice A = VeleSovice B
117.HoStice B - Rousinovec B
118,Slavikovice A= Némlany B
119.Vd%any n/L A = Brankovice
120.,Nevojice A = Orlovice B

2l.kolo = —{(.3.—{5'/4

121.Nevojice A = Komorany C
122.0rlovice B« VdZfany n/L A
123.Brankovice = Slavikovice A
124 JNéméany B - HoStice B
125.,0rlovice A = Rousinovec B
126.VeleSovice B = Lovéiékz_

22.kolo - AH.3.48 -

127.Komofany -C = Vele3ovice B
128,Rousinovec B = Lovéicky
129,0rlovice A = Néméany B
130.HoStice B - Brankovice
131.Slavikovice A= Orlovice B
132,VéZany n/L A - Nevojice A



